Consolidation work 7 - First Level ***

1. 6 multiplied by 10
9 sets of 3

Add 14 and 42

70 minus 12
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There are 340 pupils in a school. 28 P7 pupils leave and 25 P1 pupils start. There are
another 5 new pupils who join the school. How many pupils are there now?

6. Double 120

7. Double 46

8. Half 68

9. Share 90 books equally between 3 shelves. How many books on each shelf?

10. Round 544 to the nearest 100

11. Round 765 to the nearest 10

12. There are 7 chocolates in each packet. How many chocolates in 7 packets?

13. 20+13 +26 =

14. 999 people are at a concert and 2 leave early. How many people stay at the concert?
15. Draw 3 coins to make 75p

16. Write this time in words: 9.30pm
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60g a 80g What weight is arrow ‘a’ pointing to?
18. Write the numbers in order starting with the smallest
876, b45, 554, 760, 804
19. I need 28 meters of carpet but I only have 14 meters. How many more meters of carpet
do I still need?

20. Colour one quarter of the shape below.




